NId 3aIS LIMSVYD A3 L3AIY L
Y00Z ~VOrEmia IS 1y

PCBi/IRRin Tk, BISHKS, HERERS, ™

PR5-150A-014

il d;:‘\n:(

BARS#(Technical Data)

:—mm—« 310
P juisiias
r 5 8
ﬁ D = Ve Lo 5
PR lper
+-8.504 .50
M‘f_?.‘m p—15.50—y
I g
g 8
<—rz.w ‘;j’
A4
Cowd ¢ i

A HEREAIAHZPCS

PR5-150A-015

¢ —

[ Bom .

1 yar é i BCB LAYQUT i
gzg o | E
i : . :

‘]—r 2-M6-6HBA®5.6 mm _'l;m_

|

4007
19,00
S

32.50
5.50
6-2.50

~ 150

[

——2z50—1

RS H(Technical Data)

PR5-110A-003 PR5-120A-037 PR5-130A-001
g
<
p=——13.00——~ ‘.
L | # m
[j f :\:;,‘@ — BEA 1700 — ]- E_:‘
& s 8 S 1 T g | 200-—i
X ¥ L | e % & I} T E E eca tavour |V
L s 4 i §“‘3ﬂ” o
= ] HE | = }
12.50—!
Hs: 17.00—
5-6H
3 @ é ) J@‘ i
L ™ 1] T_
g g ]
T-—n,so—-T 4350 a,so—l 8 20 —19.00—4,_‘1_ ! L—15‘ua—J
22.00- o
#HRE#(Technical Data) BARSH(Technical Data) #HAREH(Technical Data)
B BB(Center Space) 8.5x11.5mm 18 §B(Center Space) 12.020.0mm B BE(Center Space) 6.5x15.0mm
#E i (Rated Current) 110A HEraifi(Rated Current) 120A #EHi7(Rated Current) 130A
[E£RIB%T(Screw) M5 ELABET (Screw) M8 E4985T(Screw) M5
1242IF (Terminal Body) Brass,Tin Plated 12188 T (Terminal Body) Brass, Tin Plated 124235 F (Terminal Body) Brass,Tin Plated
#B4THI4E(Screw Torque) 24 1bf - in $2FHA%E (Screw Torque) 55 Idf - in #B4TH14E(Screw Torque) 24 Ibf « in
PR5-150A-017 PR5-150A-012 PR5-150A-013
|
| [~
& N
B 17.00—— ]_[_1 7'00_; BENER 17,00~ g
0,80~ o Y 804 250~
gﬁ —r[ﬁ §;41~2.00 $ EH 080-[[§ 5| ecaiamur
Sz \ o T ] S=1200 \
| [{ ra (A oo
650
M6 < _ E:;S-gl;’nm ,—13,017 690
Y
' % el 1=
o pp yud
% i 01 § i
L L L T 4-2.00
L 500 50— 4250 ] 1500 6.50
2
RS H#(Technical Data) BEARE# (Technical Data) FiAS# (Technical Data)
i@  P8(Center Space) 6.5x15.0mm 18 BE(Center Space) 6.5*15.0mm 8l 3B(Center Space) 6.5*15.0mm
#E iRt (Rated Current) 150A HEF T (Rated Current) 150A HUEEF(Rated Current) 150A
[E£484T(Screw) M6 ELIRET(Screw) : ELRAB5T(Screw) M6
1R4%I% T (Terminal Body) Brass, Tin Plated RiZIHF(Terminal Body) Brass, Tin Plated 18#%i T (Terminal Body) Brass, Tin Plated
$24T3H4B(Screw Torque) 30 Ibf - in SREHAKE(Screw Torque) —Idf-in $RE3HA%E(Screw Torque) 30 Idf - in

025/

/8  BB(Center Space) 6.5*65mm

e (Rated Current) 150A

ELARET (Screw) M6

#2125 F(Terminal Body) Brass, Tin Plated

IREHAE(Screw Torque) 301df-in
PR5-200A-008

—17.50—
I D |

HARS#(Technical Data)

PR5-150A-011
- @& [ o \
i)
—
; By
B
I |
25.00 (
l__ I o
B-Frio0 8| e
a Ny
5 1
© a L 210
L 0 o o
1300 sso——- =
2-m6-6m 20.50
K @
B s U
TJ I |
2350—] s—asom
RS (Technical Data)
i8] EB(Center Space) 5.5x23.5mm
#i2fifi(Rated Current) 150A
JEL&4R€T (Screw) M6
1&$ZiHTF (Terminal Body) Brass,Tin Plated
#24THI4E (Screw Torque) 301bf - in
PR5-200A-002
%
24,00——
’—A

25,50
22,00

RS #(Technical Data)

8 EB(Center Space) 5.5%23.5mm
EEFE i (Rated Current) 150A

ELRA4T (Screw) M6

{ZEHT (Terminal Body) Brass, Tin Plated
IREHAE(Screw Torque) 30 Idf - in

PR5-200A-009

i6s

450

3500 Y

J_‘Lhﬂﬂ

7.50

ARE#(Technical Data)

B EE(Center Space)
#iErEifi(Rated Current)
EZRI8£T (Screw)

$2EERF (Terminal Body)
$2FHA%E(Screw Torque)

7.5*17.50mm
200A

Mé

Brass, Tin Plated
301df - in

18 BE(Center Space)
#hE A fi(Rated Current)
EZH4T(Screw)
1R4EHF (Terminal Body)
4241346 (Screw Torque)

7.5x21.50mm
200A

M6

Brass,Tin Plated
30 Ibf + in

i@ §5(Center Space) 7.5%21.50mm
e fi(Rated Current) 200A
[EL48ET(Screw) M6
1213 F (Terminal Body) Brass, Tin Plated
SREHAKE(Screw Torque) 30 Idf-[in

1026

SIS 1M

VY002 ~VOrE
NId 3AIS LIMSVYD aILIAIY L



